



HAL
open science

An extension of Lobachevsky formula

Hassan Jolany

► **To cite this version:**

| Hassan Jolany. An extension of Lobachevsky formula. 2017. hal-01539895v2

HAL Id: hal-01539895

<https://hal.science/hal-01539895v2>

Preprint submitted on 2 Sep 2017 (v2), last revised 13 Sep 2017 (v3)

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

An extension of Lobachevsky formula

HASSAN JOLANY

Universite Lille 1

UMR 8524, Mathematiques 59655 Villeneuve d'Ascq France

hassan.jolany@math.univ-lille1.fr

In this paper we extend the Dirichlet integral formula of Lobachevsky. Let $f(x)$ be a continuous function and satisfy in the assumption $f(x + \pi) = f(x)$, and $f(\pi - x) = f(x)$, $0 \leq x < \infty$. If the integral $\int_0^\infty \frac{\sin^4 x}{x^4} f(x) dx$ converges and defined in the sense of the improper Riemann integral, then we show the following equality

$$\int_0^\infty \frac{\sin^4 x}{x^4} f(x) dx = \int_0^{\frac{\pi}{2}} f(t) dt - \frac{2}{3} \int_0^{\frac{\pi}{2}} \sin^2 t f(t) dt$$

hence if we take $f(x) = 1$, then we have

$$\int_0^\infty \frac{\sin^4 x}{x^4} dx = \frac{\pi}{3}$$

Moreover, we give an explicit formula for $\int_0^\infty \frac{\sin^n x}{x^n} f(x) dx$ where $n = 6, 8$ and for general natural number $n \in \mathbb{N}$, we give a method to find such explicit formula.

1. Introduction

The following classical Dirichlet integral has drawn lots of attention.

$$\int_0^\infty \frac{\sin x}{x} dx = \frac{\pi}{2}$$

We can use the theory of residues to evaluate this Dirichlet's integral formula. G.H. Hardy and A. C. Dixon gave a lot of different proofs for it. See [5-7]. In this paper we generalize this Lobachevsky formula.

We start with the following elementary lemma. See [1-4]

LEMMA 1.1 We have

$$\frac{1}{\sin \alpha} = \frac{1}{\alpha} + \sum_{m=1}^{\infty} (-1)^m \left(\frac{1}{\alpha - m\pi} + \frac{1}{\alpha + m\pi} \right)$$

Proof. Let

$$f(x) = 1 - \frac{\sin x}{\sin \alpha}$$

where $\alpha \neq k\pi$, then we have

$$f(x) = \left(1 - \frac{x}{\alpha}\right) \prod_{n=1}^{\infty} \left(1 - \frac{x}{(2n-1)\pi - \alpha}\right) \left(1 + \frac{x}{(2n-1)\pi + \alpha}\right) \left(1 - \frac{x}{2n\pi + \alpha}\right) \left(1 + \frac{x}{2n\pi - \alpha}\right)$$

By applying Taylor expansion on $\sin x$,

$$f(x) = 1 - \frac{x}{\sin \alpha} + \frac{x^3}{3! \sin \alpha} - \frac{x^5}{5! \sin \alpha} + \dots$$

Now let the right hand side of the above equality as an infinite series. If a_1, \dots, a_n, \dots are the roots of $f(x)$, then we can write

$$f(x) = \left(1 - \frac{x}{a_1}\right) \left(1 - \frac{x}{a_2}\right) \dots \left(1 - \frac{x}{a_n}\right) \dots = \prod_{k=1}^{\infty} \left(1 - \frac{x}{a_k}\right)$$

Now since the roots of $f(x)$ are

$$\begin{cases} 2n\pi + \alpha \\ 2n\pi - \alpha + \pi \end{cases} \quad n = 0, \pm 1, \pm 2, \dots$$

□

so

$$f(x) = \prod_{n=-\infty}^{\infty} \left(1 - \frac{x}{2n\pi + \alpha}\right) \left(1 - \frac{x}{2n\pi - \alpha + \pi}\right)$$

hence we have

$$f(x) = \left(1 - \frac{x}{\alpha}\right) \prod_{n=1}^{\infty} \left(1 - \frac{x}{(2n-1)\pi - \alpha}\right) \left(1 + \frac{x}{(2n-1)\pi + \alpha}\right) \left(1 - \frac{x}{2n\pi + \alpha}\right) \left(1 + \frac{x}{2n\pi - \alpha}\right)$$

By writing the right hand side of the equality $f(x) = 1 - \frac{\sin x}{\sin \alpha}$ as a power series and equate the coefficients of both sides, the right hand side is infinite elementary symmetric functions, since in general

$$\prod_{j=1}^n (\lambda - X_j) = \lambda^n - e_1(X_1, \dots, X_n) \lambda^{n-1} + e_2(X_1, \dots, X_n) \lambda^{n-2} + \dots + (-1)^n e_n(X_1, \dots, X_n).$$

where for $k \geq 0$ we define

$$e_k(X_1, \dots, X_n) = \sum_{1 \leq j_1 < j_2 < \dots < j_k \leq n} X_{j_1} \cdots X_{j_k},$$

so that $e_k(X_1, \dots, X_n) = 0$ if $k > n$. Then we get the desired result.

LEMMA 1.2 We have the following identity

$$\frac{1}{\sin^2 \alpha} = \frac{1}{\alpha^2} + \sum_{m=1}^{\infty} \left(\frac{1}{(\alpha - m\pi)^2} + \frac{1}{(\alpha + m\pi)^2} \right)$$

Proof. By the same idea from the proof of Lemma 1.1, by taking $f(x) = 1 - \frac{\sin^2 x}{\sin^2 \alpha}$ we get

$$\frac{1}{\sin^2 \alpha} = \frac{1}{\alpha^2} + \sum_{m=1}^{\infty} \left(\frac{1}{((2m-1)\pi - \alpha)^2} + \frac{1}{((2m-1)\pi + \alpha)^2} + \frac{1}{(2m\pi + \alpha)^2} + \frac{1}{(2m\pi - \alpha)^2} \right)$$

so we have

$$\frac{1}{\sin^2 \alpha} = \frac{1}{\alpha^2} + \sum_{m=1}^{\infty} \left(\frac{1}{(\alpha - m\pi)^2} + \frac{1}{(\alpha + m\pi)^2} \right)$$

It is worth to mention that we can get the identity of Lemma 1.2, by differentiating termwise the following classical formula,

$$\cot(z) = \frac{1}{z} + \sum_{m=1}^{\infty} \frac{2z}{z^2 - m^2\pi^2}$$

□

2. Lobachevsky formula

Now we present Lobachevsky formula with new technique.

THEOREM 2.1 Let $f(x)$ satisfies in the condition $f(x + \pi) = f(x)$, $f(\pi - x) = f(x)$, $0 \leq x < \infty$ and the following integral exists

$$\int_0^{\infty} \frac{\sin^2 x}{x^2} f(x) dx$$

and defined in the sense of the improper Riemann integral, then we have the following Lobachevsky identity

$$\int_0^{\infty} \frac{\sin^2 x}{x^2} f(x) dx = \int_0^{\infty} \frac{\sin x}{x} f(x) dx = \int_0^{\frac{\pi}{2}} f(x) dx$$

Proof. Take

$$I = \int_0^{\infty} \frac{\sin x}{x} f(x) dx$$

we can write I as follows

$$I = \sum_{\nu=0}^{\infty} \int_{\nu\frac{\pi}{2}}^{(\nu+1)\frac{\pi}{2}} \frac{\sin x}{x} f(x) dx$$

where $\nu = 2\mu - 1$ or $\nu = 2\mu$, by changing $x = \mu\pi + t$ or $x = \mu\pi - t$ we get

$$\int_{2\mu\frac{\pi}{2}}^{(2\mu+1)\frac{\pi}{2}} \frac{\sin x}{x} f(x) = (-1)^{\mu} \int_0^{\frac{\pi}{2}} \frac{\sin t}{\mu\pi + t} f(t) dt$$

and

$$\int_{(2\mu-1)\frac{\pi}{2}}^{(2\mu)\frac{\pi}{2}} \frac{\sin x}{x} f(x) = (-1)^{\mu-1} \int_0^{\frac{\pi}{2}} \frac{\sin t}{\mu\pi - t} f(t) dt$$

so we get

$$I = \int_0^{\frac{\pi}{2}} \frac{\sin t}{t} f(t) dt + \sum_{\mu=1}^{\infty} \int_0^{\frac{\pi}{2}} (-1)^{\mu} f(t) \left(\frac{1}{t + \mu\pi} + \frac{1}{t - \mu\pi} \right) \sin t dt$$

□

Consequently we can write I in the following form

$$I = \int_0^{\frac{\pi}{2}} \sin t \left(\frac{1}{t} + \sum_{\mu=1}^{\infty} (-1)^{\mu} \left(\frac{1}{t + \mu\pi} + \frac{1}{t - \mu\pi} \right) \right) f(t) dt$$

Hence

$$I = \int_0^{\frac{\pi}{2}} f(t) dt$$

and proof of the identity $\int_0^{\infty} \frac{\sin x}{x} f(x) dx = \int_0^{\frac{\pi}{2}} f(x) dx$ is complete. Now we prove the second part of identity. Take

$$J = \int_0^{\infty} \frac{\sin^2 x}{x^2} f(x) dx$$

we can write J as follows

$$J = \sum_{\nu=0}^{\infty} \int_{\nu \frac{\pi}{2}}^{(\nu+1) \frac{\pi}{2}} \frac{\sin^2 x}{x^2} f(x) dx$$

where $\nu = 2\mu - 1$ or $\nu = 2\mu$, by changing $x = \mu\pi + t$ or $x = \mu\pi - t$ we get

$$\int_{2\mu \frac{\pi}{2}}^{(2\mu+1) \frac{\pi}{2}} \frac{\sin^2 x}{x^2} f(x) dx = \int_0^{\frac{\pi}{2}} \frac{\sin^2 t}{(\mu\pi + t)^2} f(t) dt$$

and

$$\int_{(2\mu-1) \frac{\pi}{2}}^{(2\mu) \frac{\pi}{2}} \frac{\sin^2 x}{x^2} f(x) dx = \int_0^{\frac{\pi}{2}} \frac{\sin^2 t}{(\mu\pi - t)^2} f(t) dt$$

so we get

$$J = \int_0^{\frac{\pi}{2}} \frac{\sin^2 t}{t^2} f(t) dt + \sum_{\mu=1}^{\infty} \int_0^{\frac{\pi}{2}} f(t) \left(\frac{1}{(t + \mu\pi)^2} + \frac{1}{(t - \mu\pi)^2} \right) \sin^2 t dt$$

Consequently we can write J in the following form

$$J = \int_0^{\frac{\pi}{2}} \sin^2 t \left(\frac{1}{t^2} + \sum_{\mu=1}^{\infty} \left(\frac{1}{(t + \mu\pi)^2} + \frac{1}{(t - \mu\pi)^2} \right) \right) f(t) dt$$

Hence from Lemma 1.2, we get

$$J = \int_0^{\frac{\pi}{2}} f(t) dt$$

and proof is complete

3. Extension of Lobachevsky formula

Now we give a general method for calculating the generalized Dirichlet integral, as follows

$$\int_0^{\infty} \frac{\sin^{2n} x}{x^{2n}} f(x) dx$$

where $f(\pi + x) = f(x)$, and $f(\pi - x) = f(x)$, $0 \leq x < \infty$. Here we have assumed f is continuous and $\int_0^{\infty} \frac{\sin^{2n} x}{x^{2n}} f(x) dx$ converges and defined in the sense of the improper Riemann integral. We start with $n = 2$. As we did in previous section, take

$$I = \int_0^{\infty} \frac{\sin^4 x}{x^4} f(x) dx$$

By a direct computation

$$\frac{d^2}{dx^2} \left(\frac{1}{\sin^2 x} \right) = \frac{6}{\sin^4(x)} - \frac{4}{\sin^2(x)}$$

Next, differentiating twice termwise the right-hand side of identity of Lemma 1.2, we get the following identity

$$\frac{1}{\sin^4 \alpha} - \frac{2}{3 \sin^2 \alpha} = \frac{1}{\alpha^4} + \sum_{m=1}^{\infty} \left(\frac{1}{(\alpha - m\pi)^4} + \frac{1}{(\alpha + m\pi)^4} \right)$$

From previous method which we explained in section 2, we can write I as follows

$$I = \int_0^{\frac{\pi}{2}} \sin^4 t \left(\frac{1}{\sin^4 t} - \frac{2}{3 \sin^2 t} \right) f(t) dt$$

Hence

$$I = \int_0^{\frac{\pi}{2}} f(t) dt - \frac{2}{3} \int_0^{\frac{\pi}{2}} \sin^2 t f(t) dt$$

So we proved the following theorem

THEOREM 3.1 Let $f(x)$ satisfies in $f(x + \pi) = f(x)$, and $f(\pi - x) = f(x)$, $0 \leq x < \infty$. If the following integral

$$\int_0^{\infty} \frac{\sin^4 x}{x^4} f(x) dx$$

exists and defined in the sense of the improper Riemann integral, then we have the following equality

$$\int_0^{\infty} \frac{\sin^4 x}{x^4} f(x) dx = \int_0^{\frac{\pi}{2}} f(t) dt - \frac{2}{3} \int_0^{\frac{\pi}{2}} \sin^2 t f(t) dt$$

As remark if we take $f(x) = 1$, then we have

REMARK 3.1 We have

$$\int_0^{\infty} \frac{\sin^4 x}{x^4} dx = \frac{\pi}{3}$$

We have also the following remark from Lobachevsky formula

REMARK 3.2 If $f(x)$ satisfies in the condition $f(x + \pi) = f(x)$, and $f(\pi - x) = f(x)$, $0 \leq x < \infty$, then

$$I = \int_0^{\infty} \frac{\sin^{2n+1} x}{x} f(x) dx = \int_0^{\infty} \sin^{2n} x f(x) \frac{\sin x}{x} dx$$

Now if we set $\sin^{2n} x f(x) = g(x)$, we get $g(x + \pi) = g(x)$, $g(\pi - x) = g(x)$, now if we take $f(x) = 1$, then

$$\int_0^{\infty} \frac{\sin^{2n+1} x}{x} dx = \int_0^{\frac{\pi}{2}} \sin^{2n} x dx = \frac{(2n-1)!!}{(2n)!!} \frac{\pi}{2}$$

We can have the following theorem, which is the generalization of the previous theorem.

THEOREM 3.2 Let the continuous function $f(x)$ satisfies in $f(x + \pi) = f(x)$, and $f(\pi - x) = f(x)$, $0 \leq x < \infty$. If the following integral

$$\int_0^{\infty} \frac{\sin^6 x}{x^6} f(x) dx$$

converges and defined in the sense of the improper Riemann integral, then we have the following equality

$$\int_0^{\infty} \frac{\sin^6 x}{x^6} f(x) dx = \frac{2}{15} \int_0^{\frac{\pi}{2}} f(x) dx + \frac{2}{15} \int_0^{\frac{\pi}{2}} \cot^4(x) \sin^4(x) f(x) dx + \frac{11}{15} \int_0^{\frac{\pi}{2}} \sin^2(x) \cot^2(x) f(x) dx$$

Moreover, if the following integral

$$\int_0^{\infty} \frac{\sin^8 x}{x^8} f(x) dx$$

converges, then

$$\int_0^{\infty} \frac{\sin^8 x}{x^8} f(x) dx = \frac{272}{7!} \int_0^{\frac{\pi}{2}} f(x) dx + \frac{64}{7!} \int_0^{\frac{\pi}{2}} \cot^6(x) \sin^6(x) f(x) dx + \frac{1824}{7!} \int_0^{\frac{\pi}{2}} \sin^4(x) \cot^4(x) f(x) dx + \frac{2880}{7!} \int_0^{\frac{\pi}{2}} \sin^2(x) \cot^2(x) f(x) dx$$

Proof. The proof is as same as previous method, and we just need to compute

$$\frac{d^4}{dx^4} \left(\frac{1}{\sin^2 x} \right) = 16 \csc^6(x) + 16 \cot^4(x) \csc^2(x) + 88 \cot^2(x) \csc^4(x)$$

and

$$\frac{d^6}{dx^6} \left(\frac{1}{\sin^2 x} \right) = 272 \csc^8(x) + 64 \cot^6(x) \csc^2(x) + 1824 \cot^4(x) \csc^4(x) + 2880 \cot^2(x) \csc^6(x)$$

and using the identity

$$\frac{d^n}{dx^n} \left(\frac{1}{\sin^2 x} \right) = \sum_{k=-\infty}^{\infty} \frac{(-1)^n (n+1)!}{(x+k\pi)^{n+2}}$$

we get the desired result. □

Now from the previous method, the following Dirichlet integral

$$\int_0^{\infty} \frac{\sin^{2n} x}{x^{2n}} f(x) dx$$

can have the following expression

$$\alpha_1 \int_0^{\frac{\pi}{2}} f(x) dx + \alpha_2 \int_0^{\frac{\pi}{2}} \cot^{2n-2}(x) \sin^{2n-2}(x) f(x) dx + \dots + \alpha_k \int_0^{\frac{\pi}{2}} \cot^2(x) \sin^2(x) f(x) dx$$

for finding the constants α_i , since $1 + \cot^2 x = \frac{1}{\sin^2 x}$, by using Leibnitz rule we have

$$\frac{d^n}{dx^n} (1 + \cot^2 x) = \sum_{k=0}^n \binom{n}{k} \frac{d^{n-k}}{dx^{n-k}} (\cot x) \frac{d^k}{dx^k} (\cot x)$$

and then apply the closed formula

$$\frac{d^m}{dx^m}(\cot x) = (2i)^m(\cot(x) - i) \sum_{j=1}^m \left\{ \begin{matrix} m \\ k \end{matrix} \right\} (i \cot(x) - 1)^k$$

of Lemma 2.1. of [8], where $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}$ are the Stirling numbers of the second kind. Now by applying the identity

$$\frac{d^n}{dx^n} \left(\frac{1}{\sin^2 x} \right) = \sum_{k=-\infty}^{\infty} \frac{(-1)^n (n+1)!}{(x+k\pi)^{n+2}}$$

we can find a closed formula for such Dirichlet integral formula for any n .

REMARK 3.3 We have the following formulas

$$\begin{aligned} 1) \int_0^{\infty} \frac{\sin^6 x}{x^6} dx &= \frac{11\pi}{40} \\ 2) \int_0^{\infty} \frac{\sin^8 x}{x^8} dx &= \frac{151\pi}{630} \\ 3) \int_0^{\infty} \frac{\sin^{10} x}{x^{10}} dx &= \frac{15619\pi}{72576} \end{aligned}$$

4. Acknowledgment

I would like to thank of the anonymous reviewers for their careful reading of my manuscript and their many insightful comments and suggestions and also correcting my explicit formula.

REFERENCES

- [1] I. G. Macdonald, Symmetric functions and Hall polynomials. Oxford Mathematical Monographs, Oxford, Clarendon Press, Oxford University Press
- [2] Knopp, Konrad, Theory and Application of Infinite Series. Dover Publications
- [3] T. J. Bromwich, An Introduction to the Theory of Infinite Series (2e ed.), 1926, 1908
- [4] P. Stanley, Richard, Enumerative Combinatorics, vol. 2. Cambridge University Press
- [5] Dixon, A. C., Proof That $\int_0^{\infty} \frac{\sin x}{x} = \frac{\pi}{2}$, The Mathematical Gazette, Vol. 6, No. 96 (Jan., 1912), pp. 223-224.
- [6] Hardy, G. H., The Integral $\int_0^{\infty} \frac{\sin x}{x} = \frac{\pi}{2}$, The Mathematical Gazette, Vol. 5, No. 80 (Jun. - Jul., 1909), pp. 98-103.
- [7] Hardy, G. H., Further Remarks on the Integral $\int_0^{\infty} \frac{\sin x}{x} = \frac{\pi}{2}$, The Mathematical Gazette, Vol.8, No.124 (Jul., 1916), pp.301-303.
- [8] V.S. Adamchik, On the Hurwitz function for rational arguments, Applied Mathematics and Computation 187 (2007) 3-12

REFERENCES